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And perhaps I will tell you that — 13 1198 21 7797 75 XK 29WH RRADTY
really even by becoming sick it is not a Get

OVERVIEW

The ®n3 rejected the proof (that w32 01X 1°X) from the 7awn of X2 aX Twa "7
21 WM 2 7Y °NR1; saying instead that by 790 it is a vX (since VA2 ONX NIV W)
and the 7awn (merely) wants to teach us that 7no nK% v PR. Our MdOIN explains
how the 83 refuted the previously mentioned' proof that 1"10°32 01X PX.

mooIn explains that when the X713 says that 3 1°X "3 791 772 XK 097, the reason is -
= D11 19Y 99 YN 2Y MMINTT DIN MYO YN

Since there is a 7Pv°32 01X nivw, and as to your proof that if 01X nwv v° and by
7on it is not a V3, so let the 7w state that by a%m (which is a minor 01IR) it is not a

v3, and we would know that by n» (which is an 7123 01IR) it is certainly not a v3; we

can refute this proof -
= DI INNY V) PNT )7 ¥RIYUN XP NN D9 NPT RN

For the mwn teaches by n» (and not by 7%17) because it is teaching us that v PR

N7 NRD, which we would not have known if the mwn stated (only) 7757 -
= 575919 ANNY V) PR YDIN YT 311799990 2)1NYNRD RN

And the m1wn is coming to teach us both rules; that Pws2 onR w5, and w3 PN
N3 IR —

mooIn explains how we derive both rules from the mwn:®
= N9N VPINIY MY NN NN INRY V) Y HAN 1IMNWYNRD RN NTI9) OIN U INT

For if the 71wn was coming to teach us only the rule of 1032 2138 WS, however w°
0% AnRY ws, the 71wn should have just mentioned 7%m, and we would derive with a

! See previous nn "7 'oin.
2 moon is seemingly puzzled, if we maintain nn means that only by n» it is not a v but by 797 it is a v3, this would
prove that Pv*31 01X PR, and if we maintain nn is XP17 W but the same rule applies to 771 (since 0% DX w°), then
it should only mention 71%11. See footnote # 1.
3 1t would seem that the 71wn is ambiguous; it can be discussing a case where he said »w2vn, meaning that the 03 is
effective retroactively (where there is no issue of in°» InX? v3), and it can also be discussing a case where it is not 91
1PWwoYn but after wTIn 2> (where it is a 70 NR? V3).
4 This would be in a case of Ywoyn Where there is no problem of 7in°» 71X va and so the only issue is whether ©>
1°1°32 DI or not.
5> This would be in a case where it is not w2yn 11 where it is a AN NR? V3.
¢ Seemingly one could argue that since there are two reasons why it is not a 3 (either because 01X > or because 1'%
7N R i), we cannot determine whether either of them is a defining factor, for we can say perhaps it is the other
factor that invalidates the v3.
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w"> that if by %1 (which is an v¥1n 01R) there is 1"0°32 01, then certainly there is 1°0°32 01K by
nn (which is an 773 01K).” Since it mentioned nx, this proves that it is (also) coming to teach us
(in a case where he did not say 1woyn) that 7n°n RS VI X -

= 5)9NIYND ¥ MN NTY9) NI INRY V) PPN IN)

But if the 71w» only wanted to teach us that ;7102 9n8% ©¥3 X but not P>a2 o1 v -
- NI NYIYY SNNA XY ON TO DT 29D VPNAY 1YY M XY

The 71wn should not have mentioned nR2 X» a8 Tws 1", a case where he
makes a stipulation -
1P INRY PPV DT 29N NN

But rather it should have stated 79 anR® w3 $''9977, which would teach us that b X
nn nRY, the fact the mwn mentions a *Xin proves that it wishes to teach us also that onR w»
Puaa.’

SUMMARY
The ®n>>12 may be teaching us that 7n KXY V) 1R (for otherwise just write 1771
nn w"o1) and Pvoa2 01X v (for otherwise just write 70 RS 023 1"°717).

THINKING IT OVER

In the discussion here, what is seemingly relevant is whether ¥27 can prove from
this mawn that 7Pv°32 01X PX. Once there is a possibility to interpret the 71wn that the
reason it is not a v is because of in°» MR VA X (and not [necessarily] because of
7132 DX 1K), then there is no proof for X37. Why was it necessary for nso1n to
explain that we can derive from this 71wn that Pv>32 01X ¥ also, even if we cannot
derive 1v°32 oK w°, nevertheless (as long as we can interpret the 7awn to teach us
N IR LA PR), there is no proof to x27?!1°

7 According to this ™7, she would not be nw11n since the AN 01X prevented him from returning (she would be
0122 7P1). However if he merely gave her a 3 without a >Rin that it should be 10" 2nR> 9 it would be a valid va.
8 We are discussing a case where he did not say Pwayn.
% That is in a case of Ywovn. See ‘Thinking it over’.
10 See apy> noa.
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